KoHTponbHasa paboTta no teme «Jlorapudpm. Jlorapudpmunueckue ypaBHeHUA».

1 BapuaHrT.

1. Bbiuucnure:
a)log, 14— log, 7; 6) logs 36 —logs 8 + log; 18; B) 6%,
27

2. PewwuTe ypaBHeHMe:
a)log, (x - 3)=log, 10; 6)logs(1 — 6x) =logs(17 — xz); B) logys (x -2)=-2.

KoHTponbHasa paboTta no teme «Jlorapudpm. Jlorapudpmunueckue ypaBHeHUsA».
2 BapUaHT.

1. Bbluuchaure:

a)logs 4 —logs; 36; 6)log, 18 + log, 25 |0g2i; B) 79/
9 25

2. PewwuTe ypaBHeHMe:
a)logs (x +4)=logs 25; 6)log, (x+2) = log, (X*+x-7); B) logy/3 (2x+1)=-1.



